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101|R#A7 L 738 312 426 Kg |&I 864 270|828 2,646 756
102|357 L 2,428 2,428| Kg BIE 1,566 532
111|&EEF £ 358 33 325 Kg |fgRi 702 K5 - SH 1,728 432
113|RAV S 1 1 Ke |EE 162
114|B5EFE 224 12 212| Kg |B) 1,404 1188|125 - BE 2,700 324
117[14 % 36 7 29| Kg |ES 1,728 1,620| £ 3,780 648
134[#= = 236 132 104| Kg |B8 - =8 2,700 1,400 £ 5,940 1,620
137|&5E.3. < 33 32 1| Keg [X% 2,808 2,160| K% 4,104
140(5 I 18 18] Kg R 43,200 24,840
147|220 44 44| Kg BERE 7,020 5,400
158|EFEA A LS 353 353| Kg ERE 2,160 1,188
201{Lvb L 722 722| Kg R - R 432 108
203|/hd L 92 92| Kg = 405 324
205|3L8 L 316 316| Kg L 702 386
206| = 1F 645 645| Kg X 821 287
208|m>% 250 250 Kg L 2,160 648
209|942 & L 116 116 Kg = 1,242 675
210{1F AL 92 92 Kg |Ei& 4,860 2,565
212|&5E.3 Y 555 555 Kg BiE 1,998 1,026
251|< %<3 378 361 17| Kg |F= 4,860 1,966|@ 7 3,024
254|EhRECH 807 807| Kg Bh 1,998 648
303|1A 220 66 48 18] Kg |EI& 270 I35 972 540
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305[£Aah 0 9 9] Kg w5 6,480 1,944
306|L e k) 36 36 Kg i 1,260 386
315|7: B9 6 60 60 Kg = I 3,888 1,080
319|2h o 343 3431 Kg FE - LA 6,830 1,034
332|= 13 WA =EF 87 87 Kg Bl = 2,268 2,052
351(4EH 118 118] Kg w5 14,040 3,726
35411FxE<Y 82 15 67| Kg |FE 1,944 1,620|F% 2,592 1,134
355(mp Y 150 150 Kg time - BE 1,728 600
356(L L& 70 70 Kg SER 1,512 810
357|7RE 36 36 Kg FEE 1,944 1,148
358|KE 10 5 5| Kg |EHM 2,376 FAN 2,700

362| & 297 297 Kg FJE 3,024 468
401|H W 20 20 Kg Iz & 2,160 2,052
4025 5 &E 5 5] Kg A0 5,292
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A—wah 10 10| Kg & 702

Jasy by (AN 60 60| Kg JtiF 1,450 1,100
RGBT AV 172 172| Kg 73 4,320 540
ARUEAT 231 231 Kg 3 1,890 1,314
i 30 30| Kg Eles 1,296 918
MR Z 230 230 Kg 3 3,666 980
RS S 85 85| Kg 7 - AL 2,430 980

1/1




SF64E4H4H (RER)
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70110 BA 60 60| Kg F 1,728 1,566
710(5 2 ATF 27 271 Kg = Al 3,456 1,350
713|L L» HHF 17 171 Kg bF 972
BlEFAI L 8 8| Kg EE 1,269
755|FH&» C 18 18 Kg EE 580
T56(FNET 17 17 Kg RIF 1,588 1,144
76l|b Y AEE 18 18 Kg FOarL 1,980
76713725 WD 228 228| Kg =1l 1,650 1,200
801 [3BATL = 1S 1,204 1,204 Kg FE-mA 1,728 267
802|111 150 1501 Kg 2Dzl 1,728 1,242
8041 x ¢ 10 10| Kg mE 1,188
8051 1E 250 250 Kg biF 1,269 713
810|FAKF 193 193] Kg bF 2,760 1,512

1/1




